m INSTALLATION MANUAL

For: BRP Can-Am Defender/Traxter (2016-)

2444.7268.1;
444.7268.1

i 9 (D)

WWW.RIVALPOWERSPORTS.RU



1
Прямоугольник


a1
14

A

@)

)]

©)

4

<

EN Regular fasteners
DE Originale montageteile
RU LWTaTHbIN Kpenex

EN Regular fasteners
DE Originale montageteile
RU LWTaTHbIN Kpenex

EN Screw a several turns
DE Fir wenigen Umdrehungen befestigen
RU BkpyTunTb Ha Heckonbko 060poToB

EN Loosen bolts
DE Bolzen lockern
RU BbIKpyTUTb Ha HECKObKO 060pOTOB

EN Movement Arrow
DE Bewegungsrichtung
RU [IBmxeHune

EN Location/Position Arrow
DE Amordrung/Positionsrichtung
RU PacnonoxeHue

EN Screw Arrow
DE Drehungsrichtung
RU lNMoBopoTt


1
Прямоугольник


<

EN Ratchet
DE Ratsche
RU TpewéTka

EN Office Knife
DE Blromesser
RU KaHuenspckuii Hox

C
D
H 2 % ﬂ — |4 ﬂ 6
VW AN RIS 28
X2 x1 x1 | M6x20 x6 | Z6 x4 | M8x25 x6
7| & 8] ® 9 ‘@ 10| % 11 ‘ 12 &
8 x16 M8x30 x4 | 28 v X2 x2 | &8 @ X6 x4
13 14] X\ 15
M8x70 x4 |M8 = x10 | &6 x2



1
Прямоугольник




1
Прямоугольник




1
Прямоугольник




1
Прямоугольник




1
Прямоугольник




1
Прямоугольник


